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Problem § Determine the cos(@), where 6 is the angle enclosed by t
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given by parametnic equation

x(f) = sin(t)
30 = cos(2t)

2(r) = sin(31)
ot a point £ = x.
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Problem 9 Write equation of the surface oz = | in
L. spherical
2. cylindrical

coordinates
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Problem 10 Find
1. the it tangent vector
2. the principal unit normal vector

for the function () = A+ ')+ fKatt =1
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Problem 13 Find the curvature of the curve r(r) = ¢l + 2t] + ¢k as a function of ¢
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Problem 15 Find the gradients of fnctions
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1 Find the mass and center of mass of the triangle with the vertices (0, 0),
) whose density is given by p(x, y) = .
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*Problem 23 Use polar coordintes 10 st up the integral for the volume of the solid
inside the sphere 4 % + 2 = 16 and outside the cylinder * + 3" = 4. -
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